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POLITICAL SCIENCE

( Honours )

Paper : POL-HC-1016

( Understanding Political Theory )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as directed (any ten) :
1x10=10
s T Fo s Ses R (& et w=h)

(a) Who is known as the father of political
science?

TreSifs REEE s I I Rt ]2

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/
Locke/Laski.

TR ﬁt‘iﬁ‘tﬁ@*ﬁiﬁ;ﬁs@ﬂﬁ@woiﬁw@m
T @3 A e GREE/ER /AT
A |

( Choose the correct option )

(@%W@mﬁ%ﬁw)
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(c)

@

(e)

(g)

()
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( 2 )

The behavioural approach to the study
of political science was originated in
UK/USA /France/India.

e K@Y SnIeRm G S el
BEYGS /RS /IS /ST

( Choose the correct option )

( wa G AR Gfeneal )

Legitimate power is called as
( Fill in the blank )

@y el 3 @ =)
(AR 5 =7 79 )

Feminism is a protest against what?

TR e REifre s

Name one supporter of post-modernism.

CeI-HIYFFeamT 9uF AT T Tl |

In ancient Greece, City-State was called

- ( Fill in the blank )
Al Ave woR-AgTRe el el
( <=0 o2 %9 =4 )

Name one liberal theorist.

aew SnEA ifees JE foh

{ Continued )

@
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( 3 )

What is Liberalism opposed to?
g fped it w7
(i) Totalitarianism
BRG]
(i)) Authoritarianism
FERIT
fiii) Socialism
BRI
(iv) All of the above

8FY HPCel
( Choose the correct option )

( wm TeF0! e Sfrear ) -

Marxism regards State as a

e 9gF I Sw@?

(i) Natural institution
efipfoe 7

(i) Social institution
AET 7-E

(i) Class institution
Caq ALE

fiv) Welfare institution

TSI A

( Choose the correct option )

( W= Teaw! At Sferea )
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{k) Which one of the following is not a
normative approach?

O (PG SarS / AeTiane Gigelt w22

(i) Philosophical approach
nfere gt

(ii) Legal approach
SR el

(iii) Systems approach
AT Ll

{iv} Institutional approach

REE© g9l
( Choose the correct option )

( W= Teqe! iy Sferext )

(i) Name one post-behaviouralist.

G TEI-GGIRITE T T |

{m) Mary Wollstonecraft is a liberal/radical
feminist.

ST AT INC T S B S S P P
T i |
( Choose the correct option )

( wm Seas! iR Sfedl )

{ Continued )

(n)

(o)

)
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(5]

“Democracy is a government in which
everyone has a share.” Who said this?

“aleiey (2R 9T 95! 5P AR IS FHENE
SR SR AR @I (P

(i) Abraham Lincoln
SR o

(ii) Dicey

e

(iii) Seeley
et

fiv) Bryce
By

( Choose the correct option )

( W= Sosl qif Sfredl )

Who is the author of the book,
The State and Revolution?

The State and Revolution «INg 34«9
TP N2

Name one scholar of participatory
democracy.

GRHSEIYETP ATOF T LT AT AR |
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(6 ) LBl

(g Who wrote the book, Leviathan? () Did post-behaviouralism reject behav-
iouralism?
Leviathan N3 9%4Wa @4 172 TEA-SIGERTT  TIGERTE Ao SRR
()] Mention any one feature of behaviour- 2
alism.
59eRImE R GIeT @bl ey S e | () What was the central thrust of
enlightenment project?
wIE SeEme 1o @ e e
2. Answer very briefly/Write short notes on any
five of the following : 2x5=10 (h) Mention two major devices of direct
Fre Ted forsil/eere btz & @i s wifs democracy.
By Gl fort

Sfe SITegd WOl T g 7

(a) Mention two scopes of political science.

i What is First Past the Post method?
Jiete e 1ol e Swe 79 | )
4 o (AR G orre 62

{b} What is the first wave of feminism?

NI =AW G B2 ' () Michel Foucault
fyee @D
) Name two proponents of libertarianism.
TEaE 7o SWLeq A forah |
i f the following :
(d) Bring out the sex-gender distinctions. 3. Write short notes on any fourof the ng4=20
%@WWWWW”ﬂW ware fapTes R i BiRbE eeio o Gie fors
|
1
(e) Historical materialism : (@ Cless stuness
Sfezifre Twam IR

A23/449 ( Continued ) A23/449 ( Turn Over )




(b)

(c)

(@)

(e)

(g)

(h
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( 8 )

Elements of post-modernism

TeT-SiFOE SAMITIE

Challenges to the idea of democracy

NTOFI N SIS S AONRITIR

Behavioural revolution

HigeRMT Ko

Participation and representation in
democracy

SroFe Azt S ey

Features of historical approach

ol FBwE WHEE

Marx on democracy

slregy @S AT gl

Traditional view on politics

AT @[S TS FEeH

( Continued )

(22

4. Answer any four of the following questions :
10x4=40

was oyl eEIRT R I oiftE Ted B

(@) Define political theory. Discuss its main
features and dimensions. SEr=10"

qeitefes ogq Fee | T A @R e
fFpTEs @oTo ST 9 |

(b) What is liberalism? Make a comparative
analysis of classical and modern
liberalism. 3#T=10"

T 7 ATRIS SIF S SAREITE
Bl G il e @

(c) Attempt a critical appraisal of libertar-
janism and explain its key ideas. 10
b MR OB 1 N 1 e L S
RGBS AU RAEEE T

(d) Describe Marxist view of political
theory. How does it reject the liberal
view? 6+4=10

qEifes TEH RIS E§®§ It 9
B @EE OHIAME Ao FE?

fAiZS /449 ( Turn Over )
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(e)

@)

(W

- A23/449

( 10 )

What is an approach? What are the
traditional and modern approaches to
political theory? 2+8=10

{99l 1 R 57 Jecaies ©99 STqlaie
uiE ST gEes B 6

Critically examine the main features of
femminism. What are the differences
between liberal feminism and radical

feminism? 54+5=10

FIE A @REPR ANENE 7R
Sl T ) B A | SR 2
A oo w5 {62

What is post-modernism? What are its
salient features? 4+6=10

Ted-agFRrORr 57 WA duF REERR
& 2

Discuss the concept of democracy. Do
you think India is a successful model

of democracy? Explain. 5+5=10

slefegd IFECEl Sicebel 4l | CTeET AT
STeF WCHE BRI SR ? i 4 |

{ Continued )

(i)

b

A23—11%/449

(:BE

What is the deliberative theory of
democracy? Discuss its key features.

4+6=10

SICTBARETRE S1egq &4 {57 29 o1 WhHizpmz
DA T4 |

Examine the principles of procedural
democracy and discuss the case of
procedural democracy vs. substantive
democracy. 5+5=10

oS ) ~Ffore seregy Homz -Few
9 WIF AfFere ey N @R sifege
SO A 391 |
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